Warm Up

A fashion magazine prints its photographs in tw squard sizes. The larger
photographs measure 3 cm longer than the smaller photographs. Three of the
smaller photographs have a combined area 9.0 cm” more than the area of one of
the larger size. Determine the dimensions of each size of photograph.
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Quadratic Inequalities
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Solve the following: 2x-5>6x+ 7
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e Determining solutions to an inequality from a graph....
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Using the graph of f{x) shown,
determine each of the following:
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Where is f{x) < 0?
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* Let's look at finding solution sets of quadratic inequalities....

Solve: x? —5x,<14 Cgf
We will look at two different approaches...5 —T> (+)(+3 = <4
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Example: (Use both methods!!)

Solve: 3x* >13x—-10
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